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Введение
Методические указания по выполнению лексико-грамматической части экзамена по дисциплине «Английский язык» для студентов 1 курса всех специальностей стационарного отделения сельскохозяйственного вуза включают грамматический комментарий, тренировочные упражнения, задания контрольной работы.
Контрольная работа представлена в шести вариантах. Все варианты содержат вопросы по следующим темам: “The Republic of Belarus”, “Agriculture of the Republic of Belarus”, “Great Britain”, “British Agriculture”, “My Profession”.
Каждый вариант состоит из шести заданий, которые позволяют проверить умение студентов, узнавать и применять на практике изученные грамматические явления, а также проверить усвоение материала по вышеуказанным темам.
Для правильного выполнения заданий контрольной работы необходимо усвоить следующий грамматический материал:

1. Артикль

2. Степени сравнения прилагательных и наречий.

3. Сравнительные конструкции.
4. Образование и употребление форм глаголов группы Simple (Indefinite), Continuous, Perfect в действительном залоге.
5. Образование и употребление форм глаголов группы Simple (Indefinite), Continuous, Perfect в страдательном залоге. Особенности перевода сказуемых в страдательном залоге.

6. Формы инфинитива.
7. Модальные глаголы.

8. Формы герундия.

9. Причастие I (причастие настоящего времени действительного залога) и причастие II (причастие прошедшего времени).
Цель пособия – помочь студентам повторить и закрепить знания о грамматических явлениях, изучаемых в курсе английского языка высшей школы, а также расширить профессиональный кругозор студентов по сельскохозяйственной тематике и проверить степень владения изученным грамматическим и лексическим материалом.

1. Grammar Commentary (Грамматический комментарий).
1.1. The Article (артикль)

The Indefinite Article
Неопределенный артикль а (аn) относит предмет или явление к разряду подобных, не выделяя и не конкретизируя.
Неопределенный артикль употребляется с исчисляемым существительным в единственном числе:

1. Если предмет или лицо не знакомы и употребляются впервые.
e.g. He has got a sister.
2. Перед исчисляемыми существительными, употребляемыми после.

There is, this is, it is. There is a cow on the pasture. This is a plum. It is a modern tractor.
3. Если предмет или лицо не знакомы и употребляются впервые.

e.g. Give me a pencil (not a pen). A farmer gathers the harvest. (= any farmer)
4. В выражениях с глаголами to give, to have и to take для обозначения кратковременного действия: to have a talk, to have a rest, to have a bite, to have a swim, to give a smile, to give a look, to take a nap, to take a seat.

5. В некоторых устойчивых выражениях: to be in a hurry, that's a pity, to have a toothache, at a loss, what a shame, a lot (of), a few, a little, etc.

6. С людьми или вещами в общем смысле (во мн.числе не используется):
e.g. A cat is a domestic animal. Cats are domestic animals.

7. Перед исчисляемым существительным в ед. числе после such, quite, rather,what (в восклицательных предложениях):

e.g. He is such a clever student!

She quite a good specialist.

What a nice picture!

The Definite Article

(Определенный артикль)

Определенный артикль выделяет предмет или явление из разряда подобных, конкретизирует.

Определенный артикль употребляется с исчисляемым существительным как в единственном, так и во множественном числе и с неисчисляемым существительным в следующих случаях:

1. Если говорящему и слушающему понятно, о каком предмете идет речь:

e.g. Is the tea hot? (this tea).

2. Если существительное ранее упоминалось:

e.g. I saw a farmer in the field. The farmer was harvesting wheat with a combine.
3. Если перед существительным стоит прилагательное в превосходной степени:

e.g. Minsk is the largest city in Belarus.
4. С единственными в своем роде существительными (the sun, the moon the earth, the universe):
e.g. The earth goes round sun.

5. С названиями групп островов, горных цепей и пустынь, регионов, некоторых стран, частей света:

e.g. the British Isles, the Bahamas, the Alp, the Rocky Mountains, the Gobi, the Sahara, the Far East, the Middle East, the South of Spain, the North, the South, the East, the West.

6. С названиями, океанов, морей рек, каналов, озер (если слово «lake» не входит в название озера):
e.g. the Pacific Ocean ,the Atlantic Ocean, the Baltic Sea, the Irish Sea, the Mississippi, the Panama Canal, the (English) Channel, the Baikal, the Volga, the Thames, the Neman.

7. С названием кинотеатров, театров, ресторанов, отелей, кораблей, музеев.
e.g. the National Theatre, the Empire State Building, the Hilton Hotel, the British Museum, the Washington Monument, the Savoy, the Times, the Daily Worker.
8. В некоторых устойчивых выражениях.
e.g. In the evening, in the country, in the street, in the middle, at the end, by the way, to listen to the radio, to go to the cinema, to tell the truth, etc.

The Zero Article

(нулевой артикль)

Артикли не употребляются:

1. С исчисляемыми существительными во множественном числе в функции (именной части сказуемого):

e.g. They are students.
2. С неисчисляемыми существительными, например:

а) вещественными:

e.g. This spoon is made of silver. Water freezes at 0° С.

б) абстрактными 

e.g. They worked in silence.
3. С существительными с определением, выраженным указательным или притяжательным местоимением, или количественным числительным, стоящим после существительного:

e.g. His elder sister is an economist. Open your books on page 12 and do exercise 5.
4. С существительными, употребляемыми в обобщенном смысле:

e.g. Do you like tea or coffee?

нo: The coffee is hot.
5. С названиями учебных дисциплин:
e.g. My friend is good at history.

(в таких случаях существительные пишутся с прописной буквы):
6. С названиями времен года, месяцев и дней недели:

e.g. My day off is Sunday. Spring is my favorite season.
7. С названиями стран и континентов:

e.g. Belarus, Russia, Europe, Asia, America, Great Britain; but the Ukraine, the Netherlands.
8. С названиями отдельных oстровов, отдельных горных вершин, озер (если слово lake входит в название озера):

e.g. Great Britain, Ireland, Everest, Elbrus, Mount McKinley, Ben Nevis, Lake Baikal.

9. В некоторых устойчивых выражениях:
e.g. by name, by mistake, by heart, by chance, by bus, by air, by water, by car, on foot, from morning till night, from time to time, from beginning to end, at work, at/to school, at college, at home, to go to bed, to have breakfast, etc.

10. С названиями городов, улиц, бульваров, скверов, авеню, площадей, парков, дворцов, аэропортов, а также университетов и колледжей, если в их состав входит имя собственное:

e.g. Hyde Park, Buckingham Palace, Kennedy Airport, Oxford University, Cambridge University, Boston University, Minsk, Moscow, London, New York, Fifth Avenue, Broadway, Piccadilly Circus, Red Square, but: the Hague, the Eiffel Tower, the Rockefeller Center.

1.2 Degrees of Comparison (Степени сравнения прилагательных и наречий)

В английском языке имя прилагательное имеет те же степени сравнения, что и в русском: положительную (positive), сравнительную (comparative) и превосходную (superlative).

Односложные прилагательные образуют сравнительную степень при помощи суффикса -еr, а превосходную при помощи суффикса -est, которые прибавляются к прилагательному в положительной степени:
long — longer — the longest
Двусложные прилагательные a) имеющие ударение на втором слоге и б) оканчивающиеся на -y,-ow,-er, -le образуют степени сравнения тем же способом.

severe- severer-the severest

simple- simpler-the simplest

Степени сравнения многосложных прилагательных образуются при помощи слов mоге — для сравнительной и most для превосходной степени:important — more important —the most important.
Степени сравнения наречий образуются аналогично степеням сравнения прилагательных: late — later — the latest, actively — more actively — the most actively.
Некоторые прилагательные и наречия образуют степени сравнения не по правилу:

	good

well
	better
	(the) best

	bad

badly
	worse
	(the) worst

	much

many
	more
	(the) most

	little
	less
	(the) least

	far

far
	farther

further
	(the) farthest

(the) furthest


В английском языке после прилагательного в сравнительной степени употребляется союз than (чем), тогда как в русском языке этот союз может опускаться:
My son is younger than yours. – Мой сын моложе вашего.
Прилагательные и наречия употребляются в следующих сравнительных конструкциях:
1.3Сравнительные конструкции
	Модель
	Перевод
	Пример

	as ... as
	такой же ... как (такой как)
	This boy is as tall as my brother.

	
	
	Этот мальчик такой же высокий, как мой брат.

	
	так же ... как
	Не runs as fast as you do.
Он бегает так же быстро, как ты.

	not as...as
	не такой ... как
	This room is not as light as that one.
Эта комната не такая светлая как та.

	
	не так, как
	She doesn't know Minsk as well as we do.




1.4 Active Voice
Система временных форм английского глагола (действительный залог)

Конструкция предложения, в котором подлежащее является действующим, активным лицом (или предметом), представляет собой конструкцию в действительном (активном) залоге. В английском языке имеются четыре группы времён:Indefinite, Continuous, Perfect, Perfect Continuous, которые образуют двенадцать временных форм.
	Tenses
	Indefinite

(Simple)
	Continuous
(Progressive)
	Perfect
	Perfect

Continuous
(Progressive)

	Present
	Water boils at 100 degrees Celsius.
	The water is boiling. Can you turn it off?
	Would you like something to eat? – No, thank you. I have just had lunch.
	How long has it been raining? — It has been raining since three o'clock.

	Past
	Mozart wrote more than 600 pieces of music.
	I burnt my hand while I was cooking dinner.
	We went to Barbara's office, but she wasn't there. She had gone out.
	I was very tired when I arrived home. I had been working hard all day.

	Future
	I will probably be at home in the evening.
	Will you be passing the post office when you are out? — Probably, why?
	Do you think Carol will have passed the exam by two o'clock? — 1 think so.
	The match will have been lasting for an hour by 9.30. So, at ten you'll be free.


1.5. Passive Voice (Страдательный залог).
Видо-временные формы глагола в страдательном залоге.
Конструкция предложения, где подлежащее является объектом, на который направлено действие (т.е. не действует само; пассивно), представляет собой конструкцию в страдательном (пассивном) залоге.
Страдательный залог образуется с помощью вспомогательного глагола to be в соответствующем времени, лице и числе + причастие II (причастие прошедшего времени) смыслового глагола:
I was helped. - Мне помогли (помогали). I will be helped. - Мне помогут (будут помогать).
Группы простых времен (настоящего, прошедшего, будущего) в страдательном (пассивном) залоге (Simple Tenses Passive)

	Indefinite
	Present
	Past
	Future

	
	am is are+ Part. II
	was, were+ Part. II
	shall be/will be +PartII

	
	I am often asked about it. – Меня об этом часто спрашивают. 
	I was asked about it yesterday. – Меня спросили об этом вчеpa.
	I shall/will be asked about it tomorrow. – Меня спросят об этом завтра.

	    Continuous
	am, is, are being + Part. II.
	was, were being + Part II
	

	
	I am being asked about it now. – Меня cпрашивают об этом сейчас.
	I was being asked about it when you came. – Меня спрашивали об этом, когда вы пришли.
	

	Perfect
	have, has been + Part II
	had been + Part II
	shall/will have been + Part II

	
	I have been asked about it today. – Меня спросили об этом сегодня.
	
I had been asked about it before I met you. – Меня спросили об этом до того, как я встретил вас.
	
I will have been asked about it by that time. – Меня уже спросят об этом к тому времени.


При образовании вопросительной формы в страдательном залоге вспомогательный глагол ставится перед подлежащим:
Are the exercises done?      Have they been done?
Will they be done?              Are they being done?
При образовании отрицательной формы частица not употребляется после первого вспомогательного глагола.

The letters will not be typed tomorrow.
Английская пассивная конструкция на русский язык переводится неопределённо-личными предложениями, активными и пассивными конструкциями.
My article was discussed at the University.
Мою статью обсуждали (моя статья обсуждалась) в университете.
Дополнение при глаголе в страдательном залоге, обозначающем лицо, употребляется с предлогом by/ with:
This report was made by my friend. – Этот доклад был сделан моим другом.
The bread is cut with a knife. – Хлеб порезан ножом.
1.6 The Infinitive (Инфинитив)
Инфинитив — это неопределённая форма глагола, которая отвечает на вопрос «что (с) делать?» Признаком инфинитива в английском языке является частица to: to be, to do, to work.
Но после модальных глаголов и глаголов to see, to hear, to watch, to feel, to notice, to let, to make (в знач.”заставлять”) частица to не употребляется.
Не can drive a tractor well.
Don't let him treat cows himself.
Отрицательная форма инфинитива образуется при помощи частицы not, которая ставится перед ним.
I prefer not to apply pesticides.
Формы инфинитива

	
	Active
	Passive

	Indefinite

Continuous

Perfect
	to write

to be writing

to have written
	to be written

—
to have been written


Функции инфинитива в предложении
	Функции
	Примеры
	Перевод

	Подлежащее


	То read aloud is very useful.
	Читать вслух очень полезно.

	Часть составного глагольного сказуемого
	Our aim is to master English.
	Наша цель – овладеть английским.

	Дополнение
	He likes to draw.
	Он любит рисовать.

	Определение
	Here is the article to be translated.
	Вот статья, которую нужно перевести.

	Обстоятельствo
	I came to help you.

	Я пришел, чтобы помочь вам.


1.7. Modal Verbs (Модальные глаголы)
Модальные глаголы – это глаголы, которые выражают не действие или состояние, а отношение лица к действию или состоянию. Модальные глаголы  выражают значение возможности, желательности, необходимости. Модальный глагол в сочетании с инфинитивом образует в предложении составное глагольное сказуемое.
Таблица модальных глаголов и их эквивалентов
	Модальные глаголы и их эквиваленты
	Значение
	Present
	Past
	Future

	must
	необходимость совершения действия
	must

You must help them.
	had to

You had to help them.
	will have to

You will have to help them.

	to have to
	необходимость совершения действия в зависимости от обстоятельств
	have to /has to

You have to go there.
	had to

You had to go there.
	 shall/will have to

You will have to go there.

	to be to
	необходимость совершения действия, заранее запланированного или по договоренности или по приказу
	am to, is to, are to

They are to sow oat in spring.
	was to, were to

They were to sow oat in spring.
	вместо будущего используется настоящее

They are to sow oat in spring.

	should
	необходимость совершения действия; совет
	should

He should apply fertilizers to get a better yield. 
	
	

	ought to
	моральная необходимость совершения действия
	ought to

He ought to return

the books today. 
	
	

	can
	возможность, способность совершения действия
	can

Can you see the house over there?
	could

Could you see the house over there?
	

	to be able (to)
	возможность, способность совершения действия
	am/is/are able (to)

He is able to cross the river.
	was/ were able (to)

They were able to cross the river.
	shall/will be able to)

You will be able to cross the river.

	may
	разрешение, вероятность действия
	may 

She may go home now.
	might

She might be at home now.
	

	need
	Выражает необходимость, нецелесообразность, обычно употребляется с отрицанием.
	You needn`t hurry.
	
	


1.8 Gerund (Гeрундий)
Герундий — это неличная форма глагола, соединяющая в себе свойства существительного и глагола. В этом отношении герундий сходен с инфинитивом, но отличается от него тем, что передает оттенок процесса. Герундий образуется с помощью добавления суффикса -ing к инфинитиву.

to feed-feeding

to raise-raising
Герундий имеет две формы залога(действительный и страдательный) и относительное время.
	
	Active
	Passive

	Infinitive(Simple)
	writing
	being written

	Perfect
	having written
	having been written


Функции герундия в предложении
	Функции
	Примеры

	Перевод

	Подлежащее
	Swimming is my favourite sport
	Плавание — мой любимый вид спорта.

	Часть составного сказуемого.
	Her aim is mastering English
	Ее цель — овладеть (овладение) aнглийским.

	Дополнение
	I don't mind going there.
She likes singing
	Я не возражаю (не против) пойти туда.
Она любит петь.

	Определение
	There are different ways of solving this problem.
	Существуют различные способы решения этой проблемы

	Обстоятельство
	After returning home he resumed his work.
Excuse me for not keeping my promise.
	После возвращения (после того, как он вернулся домой, (возвратившись домой), он возобновил работу. 
Извините, что я не сдержал обещание.


1.9 Participle (Причастие)
Причастие — это неличная форма глагола, которая обладает свойствами глагола, прилагательного и наречия. Подобно прилагательному, причастие может быть определением к существительному или именной частью составного сказуемого: а cut grass - скошенная трава, the grass was - трава была скошена
Подобно наречию, причастие может быть обстоятельством, характеризующим действие, выраженное сказуемым.

Reading the text he wrote out new words.Читая текст, он выписывал новые слова.
Причастие I
Participle I -причастие настоящего времени cоответствует русскому причастию с суффиксами –ущ, -ющ, -ащ, -ящ. (helping-помогающий), а также деепричастию несовершенного вида с суффиксами -а, -я (dancing-танцуя).

Participle I образуется от основы инфинитива путём добавления окончания –ing.

e. g. to look-looking
Причастие II
Причастие II — причастие прошедшего времени (Past Participle) или 3-я форма глагола. Причастие II у правильных глаголов образуется путём прибавления окончания -ed к основе глагола (raise — raised, tame – tamed, stop — stopped). Неправильные глаголы имеют особую 3-ю форму (taken, grown), которую можно найти в таблице неправильных глаголов.
Причастие II переводится на русский язык страдательным причастием (harvested - убранный (урожай)) или причастием прошедшего времени действительного залога (ripen – созревший).

Причастие II у правильных глаголов по форме совпадает с Past Simple.

You can take the seed drill repaired by the farmer. (Participle II). Вы можете взять сеялку, починенную фермером.

The farmer repaired the seed drill very well. (Past Simple). Фермер починил сеялку очень хорошо.

Формы причастия
	
	Participle I
	Participle II

	Active
	asking
	—

	Passive
	
	asked


Причастия, образованные от непереходных глаголов, имеют один залог (действительный).

Функции причастия в предложении
	1. Определение 
	Mother is looking at her sleeping child.
	Мать смотрит на спящего ребенка.

	2. Обстоятельство
а) времени
б) причины

в) образа действия или сопутствующего oбстоятельства
	When asked he refused to answer the question.
Having been translated into many languages the book became world famous.
He was reading the newspaper sitting in the armchair.
	Когда его спросили, он отказался отвечать на вопрос.
Так как книга была переведена на многие языки, она стала известной во всем мире

Он читал газету, сидя в кресле.

	3. Часть сказуемого
	The plan is being discussed.
All doors were locked.
	План обсуждается.
Все двери были закрыты.


2. Drilling Exercises.
1. Use the suitable article
1) Look at… sky. It is covered with … dark clouds.
2) My friend is … very good gardener.

3) On … Sunday my friend and I usually go to … country.
4) Three … men came to … London on … holiday.

5) I am interested in … agrobiology.

6) My … aunt and my … uncle are … veterinarians.

7) They get up at 7 o’clock in … morning.

8) Grodno is situated on … Neman.
2. Use degrees of comparison and comparative structures where necessary.
1) Which of the students ran (fast) at the contest?

2) The United States of America is the fourth (large) country in the world.

3) The Thames is (deep) river in Great Britain.

4) Fruit is … (important) source of vitamins and dietary fibre … vegetables are.

5) In winter we trend to eat (many) root vegetables such as carrots and sugar beets than in summer.

6) Raw vegetables contain (much) potassium than cooked ones.

7) He knows English (good) than me.

8) She is not … beautiful … her (old) sister.
3. Fill in the suitable grammar forms in the Active Voice.
1) They (to have) 4 or 5 classes every day.

2) She (to live) in the hostel when she (to be) a student.

3) They (to discuss) the process in details now?

4) While we (to look through) the new project, the boss (to study) the contract.

5) She went for a holiday after she (to pass the exams).
6) They (to harvest) potatoes by the end of the month.

7) I (to wash up) before my mother (came).
8) Grain yields (to increase) after applying fertilizers.
9) They (to publish) a new agricultural journal this month.
10) She (to feed) her pigs when it started to rain.

4. Fill in the suitable grammar forms in the Passive Voice.
1) All the machines (to repair) by the technicians by the end of the week.
2) The chickens (to feed) now.

3) Carrots (to harvest) by the end of September?

4) Potatoes, beets, tomatoes onions and cucumbers (to buy) yesterday.
5) The cart to (pile) with ripe fruits and vegetables tomorrow.

6) Fresh cakes (to make) in this bakery every day.

7) Our car was stolen, while we (to serve) dinner.

8) I thought that the farm (to build).

9) The cowshed (to clean) already.

10) She wondered why the apples (not to harvest) in time.
5. Use the suitable form of the modal verbs. Translate the sentences into Russian.
1) It … be cold in Chicago. You…take your coat.

2) American products … compete on the world market.
3) Your English is very poor. You … work at it in summer.

4) American companies … spend millions of dollars to modernize their factories.

5) You … get rid of cheating.

6) Nick … be more careful with a combine-harvester.
7) … you help me, madam?

8) I … work right now.

6. Fill in the suitable forms of the Infinitive .Translate the sentences.
1. The animals aren't allowed (to feed) in the zoo.

2. It was difficult for Tom (to read) my handwriting.

3. I am glad (to take) part in the conference last week.
4. (To provide) big cities with dairy products is very important.

5. They seem (to irrigate) this soil now.

6. I remember (to show) a new drill by the farmer yesterday.

7. (To swim) is pleasant.

8. The potatoes (to peel) are on the table.
7. Translate the sentences into Russian, using Participle I, II.
1) The rising sun was hidden by the clouds.

2) Knowing English well he translated the text without a dictionary.

3) This melting ice or snow keeps the same temperature while melting.

4) Writing the dictation, he made only one mistake.

5) Reading a new R.Bradsbury book, I always admire his talent.

6) Speaking English, pay attention to the order of words.

7) Being in the USA, you should visit New York.

8) When Henry entered the auditorium, he saw many students sitting at the tables.
8. Define the tense and the voice of the gerunds. Translate the sentences into Russian.

1) She surprised us by bursting into tears.

2) After having left my bag in the hall, I had to return.

3) She has no desire to come to them without being invited.

4) They turned out at hearing somebody’s footsteps.

5) I did not go to the party for fear of making a fool of myself.
6) On reaching the village we left our car and entered the first house on our way.

7) She came to my place and we had an hour talk in spite of her being busy.

8) My elder sister felt better for having spent a month on the seashore.

Lexical-Grammar Tests
Variant I

I. Fill in the suitable grammar forms.
1. We swim a lot in … summer.

A. -

B. the

C. a

2. February is … month of the year in Belarus.
A. the coldest

B. coldest

C. colder
3. The Lososyanka is not … long … the Neman.
A. the similar … as

B. such … as

C. as … as
4. They … in the garden, when their friends came.
A. work

B. were working

C. worked
5. More potassium, salt, tractors and products of light industry … by Belarus next year.
A. are exported

B. were exported 

C. will be exported
6. She seems … this problem yesterday.
A. to be solving

B. to have solved

C. to solve
7. One … admire rich flora and fauna of Belarus.
A. has to

B. is to

C. can
8. They go on … computers, watches and textiles.
A. producing

B. having produced

C. being produced
9. Belarus … its economy is a sovereign independent state.
A. developing

B. having develop

C. be developed
10. Belarus … into 6 regions is situated in Eastern Europe.
A. having divided

B. divided

C. have dividing

11. ... cold water in summer is pleasant.

A. to have drunk

B. to drink

C. to be drinking

12. It’s rather ... long story.

A. а
B. -
C. the

13. … I use your phone?

A. can

B. must

C. may

14. She finishes … agrobiology.

A. having studied

B. studying

C. being studied

15. I like pears … than plums.

A. more

B. the most

C. little

16. The students … the cakes.

A have eaten
B. had eaten

C. has eaten

17. I get up as … as my brother does.

A. earlier
B. more earlier

C. early
18. He looked at the woman … at the table.

A. sitting

B. sitted

C. is sitting
19. The text … by the student is easy.

A. translating

B. translated

C. is translated

20. They … it to you tomorrow.

A. explain

B. explained

C. will explain

21. Hot coffee … here every day.

A. served

B. is served

C. serves

22. The flowers … sent by my friend last week.

A. were sent

B. was sent

C. will be sent

23. Stay here. You … leave now.

A. needn’t

B. can’t

C. must

24. His report … at the moment.

A. was being discussed

B. is being discussed

C. are discussed

25. Kate … the exam by next week.

A. was passing
B. will have passed
C. passed
II. Choose the proper words and expressions and fill in the blanks.

1. Most of the population are …
A Belarusians and Poles 
B. .Belarusians
C. Russians and Ukrainians

2. The country has … water resources

A. a few

B. a lot of

C. not very many
3. Agriculture is … for Belarusian economy.

A. of great importance

B. of no importance

C. more or less importance

4. … of the total land area is cultivated

A. more than a half

B. a half

C. less than a half

5. The United Kingdom is situated ….

A. to the south of Europe

B. on the British Isles

C. in Europe

6. The country is called…. 

A. England

B. Great Kingdom
C. the United Kingdom of Great Britain and Northern Ireland
7. Farmers use … of the total area of land in Great Britain
A. a half
B. less than a half
C. more than a half

8. Farmers raise sheep for ….

A. wool and meat
B .wool and leather
C. wool
9. Agricultural economists deal with ….
A. financial economic plans

B. treating animals

C. growing plants 

10. Educational and training practice on the farms lasts … of the training period.
A. about a half

B. about one-third
C. about a quarter 
Variant II

I. Fill in the suitable grammar forms.
1. They have been growing…tomatoes on the farm for 5 years.

A. -

B. a

C. the

2. Large agricultural enterprises were transformed into … agricultural cooperatives than usual ones.
A. smaller

B. more small

C. small
3. Belarusian flax is …known far beyond the republic …potatoes.
A. such as

B. the similar….as

C. as … as
4. Private farms … to appear in Belarus in 1993.
A. begins

B. began

C. have begun
5. 200 ostriches … on a special farm not far from Brest by September last year.

А. were raised

B. had been raised

C. are being raised
6. … domestic needs our agriculture producers a lot of farm products.
A. to be met

B. to have met

C. to meet
7. We … water these plants twice a day.
A. have to

B. can

C. must
8. They gave up … the soil.
A. being overmoisted

B. overmoisting

C. having overmoisted
9. The plant … so quickly is not always useful.
A. growing

B. have grow

C. grow
10. The fodder … in the barn was very tasty for the cattle.
A. draining

B. is draining

C. drained

11. What … nice horse!

A. а
B. the

C. -
12. Cows are … than goats.

A. the biggest

B. bigger

C. more big

13. Ben … his report next month.

A. will prepare

B. prepares

C. prepare

14. You … plant cucumbers here.

A. shouldn’t

B. mustn’t

C. can’t

15. She wants … the cow.

A. to have been milked

B. to milk

C. to have milked

16. The ... window is your fault.

A. broking

B. broken

C. broke

17. The experiment needs … up.
A. checking

B. having checked

C. checked

18. I … your friend last week.

A. meet

B. met

C. have met

19. This exercise is … one.

A. difficultiest

B. more difficult

C. the most difficult

20. This car is as … as that one.

A. the modernest

B. moderner

C. modern

21. It is the book ….

A. to be reading 

B. to read

C. to have read

22. She … well ….

A. is being paid

B. are paid

C. is paid 

23. The pie is worth ….

A. having eaten

B. eating

C. being eaten

24. They … all the mistakes by the end of the week.

A. had corrected

B. has corrected

C. have corrected

25. They … you well.

A. know

B. had known

C. knows

II .Choose the proper words and expressions and fill in the blanks.
1. Belarus lost more than half of its national … during World War II.

A. health

B. wealth
C. growth

2. Belarus producers products of … industry.
A. heavy
B. light

C. light and heavy
3. … can be productive with the application of fertilizers.

A. the whole land

B. a small part of the land

C. a big part of the land

4. The explosion at the Chernobyl nuclear power station ….
A. didn’t influence the counry’s total area of arable land

B. influenced the counry’s total area of arable land

C. influenced the counry’s total area of arable land a little
5. When you travel around the UK, the landscape changes ….
A. a lot

B. a little

C. somewhere

6. The climate of the country is greatly influenced by ….
A. the Irish Sea

B. the English Channel

C. the Gulf Stream

7. Hard fruits (apples and pears ) can be grown in … of Great Britain.
A. a lot of regions

B. all regions

C. few regions

8. Arable farms are located in … of the country.

A. the north

B. the south

C. the east

9. Students of the Agrarian University go to work ....
A. Grodno and Brest regions
B. Grodno region 
C. different parts of our republic

10. Agronomists are busy with ….
A. the technologies of increasing milk yields per cow.

B. fulfilment of all technical measures in crop cultivation

C. the work on the farms as livestock-experts
Variant III
I. Fill in the suitable grammar forms.
1. … Hyde Park is the most famous park in London.

A. -

B. a

C. the
2. The Thames is …river in the country.
A. deepest

B .most deep

C. the deepest
3. Her granny is as … as the hills.
A. the oldest

B. old

C. older
4. The English … in private houses.
A. is living

B. live

C .has live
5. The United Kingdom … simply Britain by John at the meeting on Friday.

A. has called

B. called

C. was called
6. I was glad … the Euroshuttle train.
A. to be taken

B. to take

C. to be taking
7. You … see the new and the old everywhere.
A. have to
B. must
C. can

8. I don’t mind … by my friend to Great Britain in summer.
A. being invited

B. inviting

C. having invited
9. Ireland is famous for its mountains and … fields.
A. rolled

B. rolling

C. being rolling
10. The British … together on the island have developed their own way of life.
A. crowded

B. crowd

C. crowding

11. Johny! You … play with sharp knives.

A. haven’t to

B. mustn’t

C. aren’t to

12. The weather was not very good yesterday, but it is … today.

A. the best

B. better

C. gooder

13. This English book is … interesting than that one.

A. more

B. the most

C. interestiner
14. Why have you stopped? -Go on ….
A. having read

B. being read

C. reading

15. He … just … you up.

A. have … run

B. has … run

C. is … running

16. You … take care of your old parents.

A. needn’t

B. should

C. are to

17. She … highly ….

A. is … paid

B. had been ... paid
C. are … paid

18. The flowers … very well last year.

A. grow

B. grew
C. grown

19. The girl … me is my sister.

A. is calling

B. called

C. calling

20. Henry is … great sportsman.

A. the

B. a

C. -

21. The … thing about English is spelling according to the students‘ opinion.

A. hard

B. harder

C. the hardest

22. She … tulips now.

A. planted

B. is planting

C. has planted

23. Henry enjoys ….
A. travelling

B. being travelled

C. having travelled

24. He is … talented … his father.

A. as ... as

B. such … as

C. the similar … as

25. By that time he … his mind.

A. changed

B. had changed

C. changes

II. Choose the proper words and expressions and fill in the blanks.
1. There are … state institutions of higher education in Belarus now.
A. 37

B. 48

C. 51

2. Belarus is a country of well-developed ….
A. culture

B. science and culture

C. science
3. Agriculture of Belarus specializes in … production.

A. wool

B. milk

C. meat and milk
4. Today the country is … provided with domestic meat and meat products, milk and dairy products, and potatoes.

A. not

B. more or less

C. completely
5. The highest mountain is Ben Nevis in ….
A. Wales

B. Scotland

C. England
6. The British have their own way of life because they are ….
A. old-fashioned
B. cut off from the rest of the world
C. proud
7. The highlands areas have … soils

A. rather good

B. good 

C. bad
8. Britain is self-sufficient in ….
A. milk, eggs, meet

B. butter, cheese, sugar

C. cheese, sugar beet, meet

9. A person should be … on the first day in a job.
A. dressed in the height of fashion (модно)

B. wear formal clothes

C. wear very informal clothes
10. The scientific study of soil is called ….
A. seed-farming

B. selection

C. soil science 
Variant IV

I. Fill in the suitable grammar forms.
1. It is not …drill I am looking for.

A. -

B. the

C. a
2. The sugar beet grown in this region is much … than in the next one.
A. most sweeter

B. more sweeter

C. sweeter
3. Wheat, barley, potatoes, sugar beet are … important … fruit and vegetables.
A. the similar … as

B. such … as

C. as … as
4. After the farmer … sheep for meat and wool, he began raising dairy cattle and hogs.
A. had raised

B. raised

C. has raised
5. The cow … usually … by the girl.
A. were milked

B. is milked

C. milked
6. He writes books on agriculture because he wants … his living.
A. to earn

B. to be earned

C. to have earned
7. Students … take exams in English at the end of June.
A. can

B. are to

C. should
8. She is proud of … to this outstanding English person yesterday.
A. having spoken

B. speaking

C. being spoken
9. The vegetables … very fast are not always very tasty.
A. having growing

B. grow

C. growing
10. The flour … in these biscuits and cakes is of good quality.
A. used
B. use
C. using
11. And now you’d better go to … bed.
A. -

B. a

C. the

12. You … make the hay while the sun is shining

A. is to

B. should

C. can

13. Here are the combine-harvesters … on our collective farm.

A. to work

B. to be working

C. to have worked

14. Do you like … pigs?

A. having fed

B. feeding

C. being fed

15. This task is … than the last one.

A. more easy

B. easy

C. easier

16. The Irish sea is not as … as the Atlantic Ocean.

A. larger

B. large

C. the largest

17. … you remember what you were doing at this time last week?

A. may

B. should

C. can

18. I didn’t know … answer to that question, so I left it out.

A. the

B. an

C. a

19. She … him your message next week.

A. give

B. will give

C. gives

20. Will you cook the … fish?

A. catching

B. caught

C. catch

21. If I take that job, it will mean … less money.

A. earning

B. earn

C. being earned

22. The teacher encouraged her students … questions.

A. to ask

B. ask

C. to asking

23. While we … for the train, it started to rain.

A. waited

B. are waiting

C. were waiting

24. He has to work late on the farm. He … it every day.

A. do

B. did

C. does

25. The boy … to the hospital by the driver of the car.

A. took

B. had been taken

C. was taken

II. Choose the proper words and expressions and fill in the blanks.

1. According to the constitution the head of Belarus is ….
A. the President

B. the Parliament 

C. the government
2. Belarus is a member of ….
A. the United Nations

B. the United Nations and other international organizations

C. NATO

3. Agriculture is a traditional exporter of ….

A. pork, beef, eggs, flax

B. milk, eggs, flax, sugarcane

C. animal oil, beef, milk, soybeans

4. The country belongs to the…kind of farming.

A. more or less stable
B. stable

C. unstable
5. The population of Great Britain is represented by ….
A. the English, the Welsh, the Scottish

B. the Welsh, the English, The Irish, the Scottish

C. the Irish, the British, the Welsh

6. The most popular university in the UK is ….
A. London

B. Cambridge

C. Oxford

7. … is of the first importance in the structure of the British agriculture.
A. Milk production 

B. Beef production

C. Pork production

8. The fishing industry provides … of British fish supplies.

A. 59%

B. 70%

C. 25%

9. A … sells meat.

A. butcher

B. backer

C. waiter

10. Students as future specialists must know foreign languages ….
A. to write poems
B. to have good job opportunities

C. to listen to English songs
Variant V
I. Fill in the suitable grammar forms.
1. I would like to become … good agronomist.

A. a

B. -

C. the

2. You can get the … education at our department.
A. goodest

B. better

C. best
3. The work of a waiter is not … interesting … the work of a vet.
A. such … as

B. the similar … as

C. as … as
4. We … specialists for all branches of agriculture now.
A. have trained

B. are trained

C. are training
5. A lot of technical schools … this year.
A. have been set up

B. has been set up

C. had been set up
6. I hate … you but the students are still waiting for the books for their work.
A. to be bothered

B. to bother

C. to be bothering
7. The students … know different kinds of agricultural machinery.

A. might

B. may
C. are to
8. … about the harrow he could easily explain how it worked.
A. asking

B. being asked

C. having asked
9. Our students, … good professional skills, are in great demand.
A. being got

B. getting

C. got
10. The problems … by our students are rather difficult.
A. solved

B. solving

C. are solving
11. He … his job three times last year.

A. has changed

B. changes

C. changed

12. What … windy day!

A. a

B. -

C. the

13. We … to employ 3 workers. We have a lot of work.

A. may

B. should

C. have

14. The rich usually try … the poor.

A. to dominate

B. to be dominating

C. to have dominated

15. This farm is worth ….

A. having visited

B. visiting

C. having been visited

16. I knew that I … her somewhere before.

A. saw

B. had seen

C. would see

17. We usually … our teacher to explain the most difficult problems to us.

A. have asked

B. ask

C. had asked

18. She often forgets … off the light before leaving the house.

A. turn

B. to be turned

C. to turn

19. I wouldn’t mind … in England if the weather were better there.

A. having lived

B. living

C. being lived

20. She … really swim well when she was eighteen years old.

A. must

B. should

C. could

21. John … just … me that he is getting married.

A. is … telling

B. has … told

C. told

22. The more you work the … you’ll pass your exam.

A. good

B. best

C. better

23. Every house in that street … by the police officer tomorrow.

A. is searched

B. will be searched

C. was searched

24. The exercise … by me is not easy.

A. done

B. doing

C. have done

25. This student works as … as that one.

A. harder

B. hard

C. the hardest

II. Choose the proper words and expressions and fill in the blanks.
1. The production amalgamation “Azot” is situated in ….
A. Grodno

B. Minsk

C. Brest

2. The climate of the country is ….

A. continental
B. hot

C. moderately continental.
3. The transition to private farms is ….
A. not efficient

B. slow

C. rapid

4. Belarus takes … place in Europe as a producer of potatoes.
A. the first

B. the second

C. the fourth

5. Britain has … in all seasons.
A. much rain

B. little rain

C. very much

6. … is the heir (наследник) to the British throne.

A. Prince Charles

B. Prince Andrew

C .Prince Edward

7. Bitain is an exporter of ….
A. goats, poultry, pigs and sheep

B. horses, pedigree cattle, sheep, goats

C. pedigree cattle, sheep, pigs and horses.

8. The main tendency in British agriculture today is that ….
A. small farms are appearing
B. big industrial farms are disappearing

C. small farms and big farms compete with each other
9. Your future job will be ….

A. monotonous

B. creative

C. harmful
10. A … makes things from wood.
A. nurse
B. carpenter

C. locksmith

Variant VI
I. Fill in the suitable grammar forms.

1. Mark is … English student.
A. a

B. an

C. the
2. Their family is … than ours.

A. larger

B. more larger

C. the largest
3. They are known … modern combine-harvesters.
A. to be operating

B. to operate

C. to be operated
4. People … not smoke here.
A. have to

B. must

C. may
5. The boy likes … stories about growing crops by his grandfather.
A. being told

B. telling

C. having told

6. While … the eggs into the basket, the girl broke one of them.
A. put

B. putting

C. having putting
7. A lot of things … by people do a lot of harm.
A. used
B. using 
C. being using
8. A new tractor … by this farmer.
A. is used

B. had been used

C. were used 

9. Unfortunately his textbook is … old … hers.
A. the similar … as
B. such … as

C. as … as

10. What … beautiful garden!

A. -

B. the

C. a
11. Shall I describe the picture? No, you … not.

A. need

B. can

C. may

12. We … to meet at 6 o’clock on Sunday.

A. can

B. are

C. may

13. I want you … the member of this society.
A. to have been

B. be

C. to be
14. … cows is not an easy matter.

A. milk

B. being milked

C. milking

15. We apply … fertilizers this year.

A. fewer

B. less 

C. the least

16. My watch is ten minutes … than yours.

A. slow

B. slower

C. the slowest

17. He … on the bank fishing when he saw a large boat.

A. is sitting
B. was sitting
C. sat

18. His brother Jack … to come here.

A. was told

B. had been told
C. are told
19. I … to the sea last month.

A. drive

B. drives

C. drove

20. Nobody in our group knows as … about British agriculture as Peter does.

A. more

B .the most

C. much

21. … you give me some advice about language courses?

A. could

B. may

C. must

22. I suggest … to the zoo on Sunday.

A. having gone
B. going
C. being gone

23. The book … by this scientist is very interesting.

A. writing

B. wrote

C. written

24. … Altai Mountains are rather high.

A. the
B. -
C. a

25. She has nobody … with.

A. speak

B. to speak

C. speaking

II. Choose the proper words and expressions and fill in the blanks.

1. Belarus has ….
A. rich flora

B. rich fauna

C. rich flora and fauna 

2. The population of Belarus is ….
A. about 10 million

B. about 15 million

C. about 25million

3. The Republic is one of the main producers of ….
A. apples

B. pears

C. flax

4. Fruit crops grown in Belarus include ….
А. cherries, apples, pears, plums
B. oranges, apples, apricots, plums.
C. apples, pears, plums, peaches
5. The Queen’s power is limited by the ….
A. prime -minister

B. Parliament

C. people

6. The area of Great Britain is … square miles.

A. 80000

B. 93000

C.71000

7. The main cereal crops grown in Britain are ….
A. wheat, barley and oats

B. wheat, rye and oats

C. wheat, barley and rice
8. The size of an average farm is ….
A. 50-60 acres

B. 30-40 acres 

C. 10-20 acres
9. Every year we need … specialists in agriculture.
A. more

B. fewer

C. the same number of

10. About … of the training period is devoted to training practice on the experimental farms.
A. a half

B. one -third 

C .a quarter
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